FORM NO. MGT-7

Form language

[Pursuant to sub-Section(1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11of the Companies (Management and Administration) Rules, 2014]



Annual Return

(other than OPCs and Small Companies)

Refer the instruction kit for filing the form.	
I. REGISTRATION AND OTHER DETAILS	

(i) * Corporate Identification Number (CIN) of the company					230T	G1994PLC019021	Pre-fill
(Global Location Number (GLN) of the	ne company					
* [Permanent Account Number (PAN)	of the company		AAA	CV98	357D	
(ii) (a	a) Name of the company			VASU	JDH	A PHARMA CHEM LI	М
(t	o) Registered office address						
	78/A,VENGALRAONAGARHYDERABA HYDERABAD HYDERABAD Telangana 500038	D					
(0	c) *e-mail ID of the company	,		cs@\	vasuo	dhapharma.com	
(0	d) *Telephone number with STD co	de		0404	1476:	3666	
(6	e) Website			www	w.vas	sudhapharma.com	
(iii)	Date of Incorporation			20/1	12/19	994	
(iv)	Type of the Company	Category of the Com	pany			Sub-category of t	he Company
	Public Company	Company limite	d by sh	ares		Indian Non-C	Government company
(v) W	hether company is having share ca	pital	•	Yes	C) No	
(vi) *\	Whether shares listed on recognize	d Stock Exchange(s)	0	Yes	•	No No	
((b) CIN of the Registrar and Transfo	-		U72	400N	ИН2004PLC147094	Pre-fill

	NSDL	. DATABASE M	IANAGEMENT LIN	MITED							
	Regis	stered office a	address of the R	egistrar and Trans	fer Agents						
	i i	LOOR TRADE ER PAREL (W)	WORLD A WING	KAMLA MILLS COME	POUND						
(v	ii) *Finar	ncial year Fro	m date 01/04/2	.021 ([DD/MM/YY	YY) To	date	31/03/2022	2	(DD/MI	M/YYYY)
(v	iii) *Whe	ther Annual (general meeting	(AGM) held	•	Yes	0	No			
	(a) If	yes, date of A	AGM 2	6/09/2022							
	(b) D	ue date of AC	SM 3	0/09/2022							
	(c) W	hether any e	xtension for AGI	M granted		O Y	es	No			
II	. PRIN	CIPAL BUS	SINESS ACT	IVITIES OF TH	E COMP.	ANY					
	*Nt	umber of bus	iness activities	1							
	S.No	Main Activity group code	Description of N	lain Activity group	Business Activity Code	Desc	ription c	f Business	Activity		% of turnove of the company
	1	С	Manu	facturing	C6			I and chemicals, medici			100
	(INCL	UDING JC	INT VENTUR	G, SUBSIDIAR RES) tion is to be giver		ssoc	IATE(IES		
	S.No	Name of t	he company	CIN / FCR	N	Holding	/ Subsic Joint V	liary/Assoc enture	iate/	% of sh	ares held
	1				34 04 04 04 04 04 04 04 04 04 04 04 04 04						
I۱	. SHAI	RE CAPITA	AL, DEBENT	URES AND OT	HER SE	CURIT	IES O	THE CO	MPAN	Υ	
•		RE CAPITA									
(a) Equity	/ share capita	al								
		Particula	2.2	Authorised capital	Issue capit			scribed ipital	Paid up	capital	
	ı otal nur	nber of equity	, snares	35,000,000	35,000,00	o	35,000,	000	35,000,0	000	
	Fotal am Rupees)	ount of equity	shares (in	350,000,000	350,000,0	00	350,000	,000	350,000	,000	

Number of classes

Page 2 of 1

Class of Shares Equity Shares	Authorised capital	Issued capital	Subscribed capital	Paid up capital
Number of equity shares	35,000,000	35,000,000	35,000,000	35,000,000
Nominal value per share (in rupees)	10	10	10	10
Total amount of equity shares (in rupees)	350,000,000	350,000,000	350,000,000	350,000,000

(b) Preference share capital

Particulars .	Authorised capital	Issued capital	Subscribed capital	Paid-up capital
Total number of preference shares	0	0	0	0
Total amount of preference shares (in rupees)	0	0	0	0

Number of classes	0
	<u> </u>

Class of shares	Authorised capital	Issued capital	Subscribed capital	Paid up capital
Number of preference shares				
Nominal value per share (in rupees)				
Total amount of preference shares (in rupees)				

(c) Unclassified share capital

Particulars (1997)	Authorised Capital
Total amount of unclassified shares	0

(d) Break-up of paid-up share capital

Class of shares	Nu	mber of sh	ares	Total nominal amount	Total Paid-up amount	.Total premium
Equity shares	Physical	DEMAT	Total			
At the beginning of the year	35,000,000	0	35000000	350,000,000	350,000,00	
Increase during the year	0	34,326,160	34326160	343,261,600	343,261,60	0
i. Pubic Issues	0	0	0	0	0	0
ii. Rights issue	0	0	0	0	0	0
iii. Bonus issue	0	0	0	0	0	0
iv. Private Placement/ Preferential allotment	0	0	0	0	0	0

vi. Sweat equity shares allotted 0							
Vii. Conversion of Preference share	v. ESOPs	0	0	0	0	0	0
No. Conversion of Debentures O	vi. Sweat equity shares allotted	0	0	0	0	0	0
N. Others, specify 0 34,326,160 343,261,60 343,	vii. Conversion of Preference share	0	0	0	0	0	0
X. Others, specify DEMAT Decrease during the year 1. Bury-back of shares 1. Shares forfeited 1. O	viii. Conversion of Debentures	0	0	0	0	0	0
DEMAT 0 34,326,160 343,261,60 343,261,60 343,261,60 0 34326160 343,261,60 0 0 0 0 0 0 0 0 0	ix. GDRs/ADRs	0	0	0	0	0	0
DEMAT	x. Others, specify	0	34,326,160	34326160	343,261,600	343,261,60	
34,326,160 0 343,261,00 343,261,00 343,261,00 343,261,00 343,261,00 343,261,00 343,261,00 343,261,00 343,261,60 0 0 0 0 0 0 0 0 0							
ii. Shares forfeited 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0		34,326,160	0	34326160	343,261,600	343,261,60	0
10		0	0	0	0	0	
V. Others, specify 34,326,160 0 34326160 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 350,000,00 350,00	ii. Shares forfeited	0	0	0	0	0	0
DEMAT 34,326,160 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 343,261,60 350,000,00 350,000,	iii. Reduction of share capital	0	0	0	0	0	0
At the end of the year 673,840 34,326,160 3500000 350,000,000 350,000 350,000,000 350,000,000 350,000,000 350,000,000 350,000,000 350,000 350,000,000 350,000,000 350,000,000 350,000 350,000,000 350,000 350,000,000 350,000 350,000 350,000,000 350,	iv. Others, specify DEMAT	34,326,160	0	34326160	343,261,600	343,261,60	
Preference shares							
At the beginning of the year 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	,	673,840	34,326,160	35000000	350,000,000	350,000,00	
Increase during the year	Preference shares						
i. Issues of shares 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	At the beginning of the year	0	0	0	0	0	
ii. Re-issue of forfeited shares 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Increase during the year	0	0	0	0	0	0
Decrease during the year	i. Issues of shares	0	0	0	0	0	0
Decrease during the year	ii. Re-issue of forfeited shares	0	0	0	0	0	0
i. Redemption of shares 0 0 0 0 0 0 0 iii. Shares forfeited 0 0 0 0 0 0 iii. Reduction of share capital 0 0 0 0 0 0 iv. Others, specify	iii. Others, specify						
ii. Shares forfeited 0 0 0 0 0 0 iii. Reduction of share capital 0 0 0 0 0 0 iv. Others, specify		0	0	0	0	0	0
iii. Reduction of share capital 0 0 0 0 0 0 0 0 iv. Others, specify	i. Redemption of shares	0	0	0	0	Ŏ	0
iv. Others, specify	ii. Shares forfeited	0	0	0	0	0	0
				1			
At the end of the year 0 0 0 0	iii. Reduction of share capital		0	0	0	0	О
			0	0	0	0	0

ISIN of the equity shares of the company

INE0A2F01013

(ii) Details of stock spli	t/consolidation during the	e year (f	for each class of	shares)		0			
Class of	fshares		(i)		(ii)			(iii)	
Before split /	Number of shares								
Consolidation	Face value per share								
After split /	Number of shares								<u></u>
Consolidation	Face value per share		***************************************						WUTTER
(iii) Details of share of the first return a	es/Debentures Trans It any time since the	fers si incorp	ince closure oration of th	date oʻ e com	f last f pany)	inancia *	al year (c	or in the	case
[Details being pro	vided in a CD/Digital Medi	a]	0	Yes	0	No	O Not A	Applicable	
Separate sheet at	tached for details of trans	fers	0	Yes	0	No			
Media may be shown.	sfer exceeds 10, option fo		ssion as a separa	ate sheet	attach	ment or s	submission	in a CD/D	igital ———
Date of registration	of transfer (Date Month	Year)							
Type of transf	er	1 - Ec	quity, 2- Prefere	ence Sh	ares,3	- Debei	ntures, 4 -	Stock	
Number of Shares/ Units Transferred	Debentures/		Amoun' Debent	t per Sh ure/Unit		.)			
Ledger Folio of Tra	nsferor								į
Transferor's Name									
	Surname		middle	e name			first na	ıme	1
Ledger Folio of Tra	nsferee								

Transferee's Name									
	Surname middle name first name								
Date of registration of transfer (Date Month Year)									
Type of transfer 1 - Equity, 2- Preference Shares,3 - Debentures, 4 - Stock									
Number of Shares/ Dunits Transferred	Number of Shares/ Debentures/ Units Transferred Amount per Share/ Debenture/Unit (in Rs.)								
Ledger Folio of Trans	sferor								
Transferor's Name									
	Surname	middle name	first name						
Ledger Folio of Transferee									
Transferee's Name									
	Surname	middle name	first name						

(iv) *Debentures (Outstanding as at the end of financial year)

^o articulars	Number of units	Nominal value per unit	Total value
Von-convertible debentures	0	0	0
⁵ artly convertible debentures	0	0	0
-ully convertible debentures	0	0	0
Fotal			0

Details of debentures

Class of debentures	Outstanding as at the beginning of the year		Decrease during the year	Outstanding as at the end of the year
Non-convertible debentures	0	0	0	0
² artly convertible debentures	0	0	0	0
⁻ ully convertible debentures	0	0	0	0

(v) Securities	curities (other than shares and debentures)				
Type of Securities	Number of Securities	Nominal Value of each Unit	Total Nominal Value	Paid up Value of each Unit	Total Paid up Value
	·				
Total					

V. *Turnover and net worth of the company (as defined in the Companies Act, 2013)

(i) Turnover

10,870,745,006

(ii) Net worth of the Company

9,589,473,494

VI. (a) *SHARE HOLDING PATTERN - Promoters

S. No.	Category	Equi	ity	Preference	
		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	34,326,160	98.07	0	
	(ii) Non-resident Indian (NRI)	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	
2.	Government				
	(i) Central Government	0	0	0	
	(ii) State Government	0	0	0	
	(iii) Government companies	0	0	0	
3.	Insurance companies	0	0	0	
4.	Banks	0	0	0	
5.	Financial institutions	0	0	0	1444 H-1044

	Total	34,326,160	98.07	0	0
10.	Others	0	0	0	
9.	Body corporate (not mentioned above)	0	0	0	
8.	Venture capital	0	0	0	
7.	Mutual funds	0	0	0	
6.	Foreign institutional investors	0	0	0	

Total numbe	r of shareholders	(promoters)
-------------	-------------------	-------------

		1
•		1
3		3
•		1
3	^	1
	()	3
1	<i>7</i>	ł
- 1	•	ŧ
		3
		1
		1

(b) *SHARE HOLDING PATTERN - Public/Other than promoters

S. No.	Category	Equi	ty	Preference		
		Number of shares	Percentage	Number of shares	Percentage	
1.	Individual/Hindu Undivided Family					
	(i) Indian	327,840	0.94	0		
	(ii) Non-resident Indian (NRI)	0	0	0		
	(iii) Foreign national (other than NRI)	0	0	0		
2.	Government		nd v			
	(i) Central Government	0	0	0		
	(ii) State Government	0	. 0	0		
	(iii) Government companies	0	0	0		
3.	Insurance companies	0	0	0		
4.	Banks	0	0	0		
5.	Financial institutions	0	0	0		
6.	Foreign institutional investors	0	0	0		
7.	Mutual funds	0	0	0		
8.	Venture capital	0	0	0	-	
9.	Body corporate (not mentioned above)	346,000	0.99	0		
10.	Others	0	0	0		

	Total	673,840	1.93	0	0
Total nur	nber of shareholders (other than promo	oters) 13			
	ber of shareholders (Promoters+Public n promoters)	22			

VII. *NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS (Details, Promoters, Members (other than promoters), Debenture holders)

Details	At the beginning of the year	At the end of the year
Promoters	9	9
Members (other than promoters)	13	13
Debenture holders	0	0

VIII. DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

(A) *Composition of Board of Directors

Category		lirectors at the g of the year	Number of directors at the end of the year		Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive
A. Promoter	3	1	3	1	23.89	11.85
B. Non-Promoter	4	2	4	2	0.13	0
(i) Non-Independent	4	0	4	0	0.13	0
(ii) Independent	0	2	0	2	0	0
C. Nominee Directors representing	0	0	0	0	0	0
(i) Banks & FIs	0	0	0	0	0	0
(ii) Investing institutions	0	0	0	0	0	0
(iii) Government	0	0	0	0	0	0
(iv) Small share holders	0	0	0	0	0	0
(v) Others	0	0	0	0	0	0
Total	7	3	7	3	24.02	11.85

Number of Directors and Key managerial personnel (who is not director) as on the financial year end date

(B) (i) *Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity share(s) held	Date of cessation (after closure of financial year : If any)
VENKATA RAMA RAJU	00085767	Managing Director	4,514,800	
ASHOK SRINIVASA RA	00085896	Whole-time directo	1,625,000	
ANAND MANTENA	00085970	Whole-time directo	2,220,000	
VENKATANAGA MADH	00685753	Whole-time directo	47,000	
VENKATA SURYA NAC	00686034	Whole-time directo	0	
VARALAKSHMI MANTE	00085857	Director	4,146,560	
VENKATA RAMARAJU	01873163	Director	0	
VENKATA RAJU KALIC	02568582	Whole-time directo	0	
PADMANABHUNI VENI	02614167	Director	0	
SREEHARI VARMA KO	00685277	Whole-time directo	0	
BADRI KRISHNASWAN	AFVPK5121L	CFO	0	31/05/2022
RABINDRA KUMAR	ALTPK1651M	Company Secretar	0	
i) Particulars of change	in director(s) an	d Key managerial p	personnel during the ye	ear 0
Name	DIN/PAN	Designation at the beginning / during the financial year	Date of appointment/ change in designation/ cessation	Nature of change (Appointment/ Change in designation/ Cessation)

(X. MEETINGS OF MEMBERS/CLASS OF MEMBERS/BOARD/COMMITTEES OF THE BOARD OF

A. MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

	Number of meetings held	1				
-	Type of meeting			Attendance		
			attend meeting	1	% of total shareholding	
	Annual General Meeting	24/09/2021	22	13	98.58	

3. BOARD MEETINGS

JIRECTORS

*Number of meetings held

5

S. No.	Date of meeting	Total Number of directors associated as on the date			
		of meeting	Number of directors attended	% of attendance	
1	18/06/2021	10	10	100	
2	23/07/2021	10	9	90	
3	24/09/2021	10	10	100	
4	31/12/2021	10	10	100	
5	16/03/2022	10	10	100	

COMMITTEE MEETINGS

Number of meetings held

11

S. No.	Type of meeting		Total Number of Members as		Attendance
	meeting	Date of meeting	on the date of the meeting	Number of members attended	% of attendance
1	Audit Committe	18/06/2021	3	3	100
2	CSR Committe	18/06/2021	4	4	100
3	Audit Committe	24/09/2021	3	3	100
4	CSR Committe	24/09/2021	4	4	100
5	Nom. & Rem.C	24/09/2021	3	3	100
6	Audit Committe	31/12/2021	3	3	100
7	CSR Committe	31/12/2021	4	4	100
8	Audit Committe	16/03/2022	3	3	100
9	CSR Committe	16/03/2022	4	4	100
10	Nom. & Rem.0	16/03/2022	3	3	100

). *ATTENDANCE OF DIRECTORS

		Board Meetings		Committee Meetings			Whether attended AGM	
S. No.	of the director		Meetings			Meetings	% of attendance	held on 26/09/2022 (Y/N/NA)

1	VENKATA RA	5	5	100	4	4	100	Yes
2	ASHOK SRIN	5	5	100	4	4	100	Yes
3	ANAND MAN	5	5	100	8	8	100	Yes
4	VENKATANA	5	5	100	0	0	0	Yes
5	VENKATA SU	5	4	80	0	0	0	No
6	VARALAKSHI	5	5	100	2	2	100	Yes
7	VENKATA RA	5	5	100	11	11	100	Yes
8	VENKATA RA	5	5	100	0	0	0	No
9	PADMANABH	5	5	100	7	7	100	No
10	SREEHARI V	5	5	100	0	0	0	No

X. *REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

☐ Nil

Number of Managing Director, Whole-time Directors and/or Manager whose remuneration details to be entered

7

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	VENKATA RAMA R	CHAIRMAN ANI	18,000,000	0	0	0	18,000,000
2	ASHOK SRINIVASA	WHOLE TIME C	15,000,000	0	0	0	15,000,000
3	ANAND MANTENA	WHOLE TIME C	15,000,000	0	0	0	15,000,000
4	VENKATANAGA M	WHOLE TIME C	2,197,500	0	0	0	2,197,500
5	VENKATA SURYA	WHOLE TIME C	2,058,550	0	0	0	2,058,550
6	VENKATA RAJU KA	WHOLE TIME C	1,001,739	0	0	0	1,001,739
7	SREEHARI VARMA	WHOLE TIME C	1,784,222	0	0	0	1,784,222
	Total		55,042,011	0	0	0	55,042,011

Number of CEO, CFO and Company secretary whose remuneration details to be entered

2

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	Badri Krishnaswami	CFO	15,000,000	0	0	0	15,000,000
2	Rabindra Kumar	Company Secre	1,348,907	0	. 0	0	1,348,907

	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
		16,348,907	0	0	0	16,348,907
ectors whose	remuneration d	letails to be entered			3	
lame	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
AKSHMI MA	Director	0	0	0	50,000	50,000
TA RAMAR,	Director	0	0	0	50,000	50,000
NABHUNI \	Director	0	0	0	50,000	50,000
		0	0	0	150,000	150,000
Name of t	he court/	MPOSED ON COMF	e of the Act and on under which	S /OFFICERS Details of penalty/ punishment	Nil Details of appeal including present	
rs/ Authority COMPOUND	ING OF OFFEN		llised / punished			
Name of concerne		sec		Particulars of offence	Amount of com	pounding (in
lc.	uthority		uthority sec		uthority section under which offence	uthority section under which Particulars of Amount of Com

Yes
 No

Р	age	13	o

XIV. COMPLIANCE OF SUB-SECTION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES

n case of a listed company or a company	having paid up share capital	of Ten Crore rupees or more or	turnover of Fifty Crore rupees or
more, details of company secretary in who	le time practice certifying the	annual return in Form MGT-8.	

Name	MOHIT KUMAR GOYAL
Whether associate or fellow	 ○ Associate ● Fellow
Certificate of practice number	12751
	ney stood on the date of the closure of the financial year aforesaid correctly and adequately. ed to the contrary elsewhere in this Return, the Company has complied with all the provisions of the
	Declaration
I am Authorised by the Board of Dir	rectors of the company vide resolution no 17 dated 19/09/2022
in respect of the subject matter of the subject matter of the subject matter of this the subject matter of this formal subject matter of the sub	and declare that all the requirements of the Companies Act, 2013 and the rules made thereunder this form and matters incidental thereto have been compiled with. I further declare that: form and in the attachments thereto is true, correct and complete and no information material to form has been suppressed or concealed and is as per the original records maintained by the company. In the provisions of Section 447, section 448 and 449 of the Companies Act, 2013 which provide for the forfalse statement and punishment for false evidence respectively.
To be digitally signed by	
Director	
DIN of the director	00085767
To be digitally signed by	
Company Secretary	
Company secretary in practice	
Membership number 9453	Certificate of practice number

List of attachments 1. List of share holders, debenture holders List of Shareholders.pdf Attach Committe Meetings.pdf 2. Approval letter for extension of AGM; Attach MGT-8.pdf 3. Copy of MGT-8; Attach 4. Optional Attachement(s), if any Attach Remove attachment Prescrutiny Submit Check Form Modify

Attachments

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company

	VASUDHA PHARMA CHEM LIMITED									
	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	IN: U24230AP19								
	DETAILS OF COMM	ITTEE MEETING	S ATTENDENCE D	URING 2021-22						
	Number of	meetings held:	11							
				Atten	dance					
S. No.	Type of Meetings	Date of	Total Number	Number of	% of					
		Meetings	of Members as	members	attendance					
			on the date of	attendence						
·			the meeting							
1	Audit Committee	18-06-2021	3	3	100.00					
2	CSR Committee	18-06-2021	4	4	100.00					
3	Audit Committee	24-09-2021	3	3	100.00					
4	CSR Committee	24-09-2021	4	4	100.00					
5	Nom. & Rem.Committee	24-09-2021	3	3	100.00					
6	Audit Committee	31-12-2021	3	3	100.00					
7	CSR Committee	31-12-2021	4	4	100.00					
8	Audit Committee	16-03-2022	3	3	100.00					
9	CSR Committee	16-03-2022	4	4	100.00					
10	Nom. & Rem.Committee	16-03-2022	3	3	100.00					
11	Independent Directors	16-03-2022	2	2	100.00					

#### VASUDHA PHARMA CHEM LIMITED

CIN: U24230AP1994PLC019021 LIST OF SHAREHOLDERS AS ON 31.03.2022 TYPE OF SHARES: EQUITY SHARES

SI. No.	Folio No.	Name of the Shareholder and Father's / Spouse Name	Address of the Members	Total Equity Shares (Nos.)	Nominal Value	Total Consideration (Rs.)
1	1	Sri Manthena Venkata Rama Raju, (HUF)	Plot No. 281, F/A, Road No. 10B, Jubilee Hills, Hyderabad - 500081	62,24,400	10	6,22,44,000
2	6	Sri. Manthena Ashok Srinivasa Raju (HUF)	Plot No. 281, F/A, Road No. 10B, Jubilee Hills, Hyderabad - 500081	63,69,850	10	6,36,98,500
3	8	Smt. Manthena Varalakshmi, W/o. Sri M V Rama Raju	Plot No. 281, F/A, Road No. 10B, Jubilee Hills, Hyderabad	41,46,560	10	4,14,65,600
4	9	Sri. Mantena Anand (HUF)	8-2-293/82/A/667, Road No. 33, Jubilee Hills, Hyderabad - 500033	66,37,250	10	6,63,72,500
5	10	Sri. M Krishnam Raju S/o. M.V.B.Raju	Garagaparru, Palakoderu Mandal Bhimavaram, W.G.Dist.	86,360	10	8,63,600
6	11	Smt. M. Lakshmi W/o Krishnam Raju	Garagaparru, Palakoderu Mandal Bhimavaram, W.G.Dist.	29,700	10	2,97,000
7	12	Sri. G. Ranga Raju S/o Ramalinga Raju	Juvvalapalem (PO), Kalla Mandal, W.G.Dist.	5,000	10	50,000
8	20	Smt. U. Rukmini W/o Rama Raju	Flat No-505, Sadguru Towers A.S Raju Nagar, Kukatpally, Hyderabad - 500072	25,000	10	2,50,000
9	23	Smt. G. Laxmi Devi W/o Ranga Raju	717, Vivekanda Nagar , Kukatpally, Hyderabad	50,180	10	5,01,800
10	29	Smt. G. Suneeta W/o Bosu Raju	Kopalle, Bhimavaram tq, W.G.Dist.	7,500	10	75,000
11	31	Smt. G. Padmavathi W/o G K Rama Raju	Plot No. 151, Seethama Dhara, Visakhapatanam	5,000	10	50,000
12	52	Sri. M. Shivaji S/o Rama Raju	Garagaparru, Palakoderu Mandal Bhimavaram, W.G.Dist.	32,100	10	3,21,000
13	67	Sri. M. Madhu Sudhan Raju S/o Naga Raju	Plot No.498, Bhaghat Singh Nagar, Adj Vasanth Nagar, Kukatpally, Hyd52	47,000	10	4,70,000
14	108	Smt. V. Swarupa W/o Jaipal Reddy	6-2-110, ZPP Road, Subash Nagar, Nizambad	5,000	10	50,000
15	109	Sri. V. Jaipal Reddy S/o Janardhan Reddy	6-2-110, ZPP Road, Subash Nagar, Nizambad	15,000	10	1,50,000
16	187	V P C L Developers Private Limited (Formerly known as VPCL Finance Pvt Ltd)	H. No. 8-3-191/85(78/A), Vengalrao Nagar, Hyderabad - 500038	3,46,000	10	34,60,000
17	256	Smt. M. Sowjanya W/o Sri M A S Raju	Plot No. 281, F/A, Road No. 10B, Jubilee Hills, Hyderabad - 500081	17,25,100	10	1,72,51,000
18	257	Smt. M. Kranthi W/o Sri M Anand	8-2-293/82/A/667, Road No. 33, Jubilee Hills, Hyderabad - 500033	8,63,200	10	86,32,000
19	329	Sri. G V Balarama Krishnam Raju S/o G Ranga Raju	Juvvalapalem (PO), Kalla Mandal, W.G.Dist.	20,000	10	2,00,000
20	603	Sri Manthena Venkata Rama Raju, S/o. Sri Veerabhadri Raju	78/A, Vengalrao Nagar, Hyderabad - 500038	45,14,800	10	4,51,48,000
21	604	Sri. Manthena Ashok Srinivasa Raju S/o. Sri Manthena Venkata Rama Raju	78/A, Vengalrao Nagar, Hyderabad - 500038	16,25,000	10	1,62,50,000
22	605	Sri. Mantena Anand S/o. Sri Manthena Venkata Rama Raju	78/A, Vengalrao Nagar, Hyderabad - 500038	22,20,000	10	2,22,00,000
			TOTAL	3,50,00,000		35,00,00,000

